Larson 7.0 Section 2.2 #4-62 evens

In Exercises 3 =24, find the derivative of the function.

3.y=8 4. flx) = -2

5 y=x" 6, v =x%

T.v= % 8 v =_1,iu

9. flx) = I 10. glv) = ¥

1L filx) = x + | 12, glx)=3x =1

13 fli) = =21+ ¥r — 6 14, y=r2+ 21— 3
15. gix) = x7 + 4o 6. y =8 — x*

17. slt) =¢* —2r + 4 18, fix) = 2x% — x* + 3x
19, v = ’gsin #— cos @ 20, gir) = weosr

2. vy =x% — tcosx 22. y =5+ sinx

23, ,l.'=£—35'm.1 M_\'=$+ 2Cosx

In Exercises 25-30, complete the table, using Example 6 as a model.

Original Function Rewrire Differentiare Simplify

25, v = l‘x 5
2
26. v = e
3
27 v = ENE
T
28, v = E8E
29, v = NE
X
30,y =

\
=



In Exercises 31-38, find the slope of the graph of the function at the indicated
point. Use the derivative leature of a graphing utility to conlirm your results.

Frinection Poinr
3
M. fix) = L3
1. flx) 2 (1,3)
3 i
32. =3-_- 52
flr) 5 5
33 fla) = =3+ 3 (0, -3)
M ov=3" -6 (2, 18)
IJoy=20+ 1) (o, 1)
36. flx) = 3(5 — xF (5,00
37. fle) = dsind— @ {0, 0)
I8 glo) =2+ 3coss {m, —1)

In Exercises 39-52, find the derivative of the function.

39. flx) = x* +5 = 3¢ M. flx) = 2% — 3¢ — 3 ?
41. gy =17 — :t 42, fix)=x + :2
Sl X = 3x +

43, flo) =+ x* 4 a4, i) = 2 = !

45. v =xx* 4+ 1) 46. v = Axl6r — 557

47. flx) = Vx = 6 Yx 48. flx) = Ix+ I

49, his) = s = 522 50. flr) = 127 = A5 4 4
2

51 flx) = 6 v + Scosx 52. flx) = ? + 3cosx
3



In Exercises 33-56, (a) find an equation of the tangent line to the graph of f at the
indicated point, (b) use a graphing utility to graph the function and its tangent line
at the point, and (c) use the derivaiive feature of a graphing utility to confirm your
results.

Funcrion Poinr
5Ly =xt - Wl 42 (1,0}
54, y=x"+x (-1 -2)
- 2
5. /(9 = (1.2)
56, v =1y + 2x)x + 1) (1,6)

In Exercises 57-62, determine the point(s) (if any) at which the graph of the
function has a horizontal tangent line,

57 v=x* — x? 4+ 2 58. v=x" 41
1
e
6l. v=x+siny, 0=rx<27 62 v

59, y = 60. v =22+ |

W3+ 2eosx, 0=x =29



